[BEEIH AR Ay T FARTEED I T,

EA829PG-3~30B

£R

O E - ¥R/ \ 1 X (CPM)
O HHIM AT RFEN, TEH, SEMOBE. £-1E,
SREAM D20~45HRCIEEDESDEY I ILICHEETY ,
O FHIM SR, AEH. TEHM. ¥ U218,
FEAUEENEESE

(B : mm)
mE U Bt | 2R | RLE|BETE | v | BY
EA829PG-3 M3 x0.5 46 11 19 4
EA829PG-4 M4 X 0.7 52 13 21 5
EA829PG-5 M5 %X 0.8 60 16 24 5.5
EA829PG-6 M6 X 1 62 19 29 6
EA829PG-8 M8 X 1.25 70 22 37 6.2
EA829PG-10 M10X 1.5 75 24 41 7 3
EA829PG-10B M10 X 1.25
EA829PG-12 M12 x1.75
EA829PG-12B M12x15 82 29 48 8.5
EA829PG-12C M12x1.25
EA829PG-14 M14 x 2
4 10.
EA829PG-14B M14x15 88 30 8 0.5
EA829PG-16 M16 X 2 5p 95 32 59 12.5
EA829PG-16B M16 X 1.5
EA829PG-18 M18x25 100 37 55 14
EA829PG-18B M18x 1.5
EA829PG-20 M20x 2.5 105 37 58 15
EA829PG-20B M20 X 1.5
EA829PG-22 M22x25
11 1 4
EA829PG-22B M22x 1.5 ° 38 63 !
EA829PG-24 M24 x 3 120 45 66 19
EA829PG-24B M24 x 15
EA829PG-27 M27 X 3
EA829PG-27B M27 %15 130 45 7 20
EA829PG-30 M30 X% 3.5
1
EA829PG-30B M30x 1.5 3% 48 74 23
TUYA XYy TUAESREY 1 XK
1526} Yy oBEe | AR i536) VvV URe | THASRE FEOF v ORe | MASRIE
M1~M2 3 2.5 M14~M15 10.5 8 M28 21 17
M3 4 32 M16 125 10 M30 23
M4 5 4 M17 13 M32 24 19
M5 55 45 M18~M19 14 il M33 25
M6 6 ) M20 15 19 M34~M35 26 21
M7~M8 6.2 5 M21 16 M36~M38 28
M9~M10 7 55 M22 17 13 M39~M40 30 23
M11 8 6 M?23 18 14 M42 32 %
M12 8.5 6.5 M24~M25 19 15 M45 35
M13 95 7 M26~M27 20 A Z (mm)




